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Alpha Exercise

Find the mode or modes of each of these, where possible:

4,5,7,8,8,8,9 10, 10 2
11,14,15,8,12,9,12,14,17,12 "L

74,72.74,7.4,75 F.4

19, 29, 31, 21, 28, 27, 24 No mode

Summer, Summer, Autumn, Summer, Winter, Summer, Spring SU\MMU'

20, 31, 25, 45, 46, 20, 34, 31 20 snd 2\
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Beta Exercise 1

200 students sat a test. The results

0 0 are shown in the table.
] ’ What was the modal score achieved
by the students?
2 0
3 4 é
4 14
5 36
6 48 < § wos the tnosk Erecwuk
! 42 oc Most comMon ccore .
8 30
0 17 LE shadenls scored o 6, hich
i o s e Pan tha cunbe of

Shudeaks achie,v‘mj QoY obher scoce .

Beta Exercise 2

Animal Frequency Shaun asks everyone in his class how

many pets they have, and what type of
Cat 7 animal they are. He records the
Dog 6 number of pets in the table shown.
Hamster 3 (a) What is the mode? Cak
Guinea pig 2
Mouse 1 (b) There are 28 students in Shaun’s
: class. Explain why the
Rabbit 1 frequencies don’t add up to 28.
Snake 1 . :
Tk is ok (\ecesscm(j the

Case ok ench dhdenk has
One ?eE
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Gamma Exercise

Height, h cm Frequency The heights of 80 people are measured.
The results are shown in the table.

120<h <130 1 What is the modal class?
130 < h< 140 4
140 < h < 150 8 170 cmn £ £ 180 em
150 < h< 160 16
160 < h< 170 20
170 < h< 180 23
180 < h< 190 8
80

Explain the mistake

The frequency table shows the number

NL:::::;;M Frequency of crisps found in 20 packs of crisps.
14 6 Kieron looks at the table and says:
15 . The modal number of crigps ig 18 because 18 ig
i c the biggest number.
17 1 Lauren looks at the table and says:
18 1 The modal number of crigpg is 7 becauge 7 ig
20 the highest frequency.

Kieron and Lauren are wrong. What is
the modal number of crisps in a packet?

T-[/\e, (V\DJAL number of U‘chs s 5.
N\DWZ PO\LILP/k \\&A \5 Cﬂ‘sY) S Hf\a/\ a/\\t] oUw/
\pmber 6& CJ'QSPS.
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Exam-style question 1

Here are the heights, in metres, of 12 students in a class:

1.20 1.29 1.27 1.24 1.17 1.26
1.25 1.34 1.27 1.28 1.27 1.23

Find the modal height of the students.

). 27 m

Exam-style question 2

This table shows the number of goals
. ) Number of goals
scored by a hockey team in their first 9 Frequency
} scored

matches of a tournament. In their tenth

and final match of the tournament, the 0 3

team scores 3 goals. What is the modal

number of goals scored by the team in the 1 4

tournament?
2 1

\ %OAL 3 A

4 1
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Exam-style question 3

The table shows information about the
Bt £ | Frequncy | Sing il o2 customens ot oy

0<x <5 5

5<x<10 8 ZS <DC—<£)O
10<x <15 7
15<x<20 4
20<x<25 1
25

Challenge

Jerry rolled a normal dice ten times. He recorded the ten scores.

A He got an odd score six times and an even score four times.
& He got a prime score four times.

Which number from 1 to 6 definitely cannot be Jerry’s modal score?

The mode cammot be 2. La order b saksﬂﬁ
Condibons A and B, Torry owsh b & L eradly
hao more times Boa he s a 2. Neace

the mode conack be 2



